FC-T2

FC-T2(TEC10E50E)

fihhg & FE ks | TR | e |aR. ovig ksm| ECSA|exsm| jkm085| Jksp.0.85 km090] ksp0.90
uglcm2 ug/em? HEg. @E%E] °C | Vs RHE | 1%, Bt| m2/g-Pt] I, & | Alg-Pt |pAiem2-Py A/g-Pt | pA/cm2-Py
A 30.84 11.76]l01M @ | 30] 1.2, 10| | | 673] & 807| 1199] 234 349
30.84 11.76]l01M@ | 30] 12,10 | | 719] & 826] 1150 221 308
B 26] 1.3ug/cm2[0.1 MB| 25/ 1.2, 1.2] B [ 59| E 787] 1330] 260 440
26] 1.3ug/cm2|0.1 M8 25[ 1.2, 12] BE | 572 E 696] 1210] 222 389
c 1a.1| O8ullom2ig y \iml 25010, 12| B | 735| E 255| 350
(0.08um)
D
E
F [[11ug—C/cm2| oosws. 25 uveme0.1 M @[ 25[ 1.0, 1.0 1% so| E 527] 650 141 170
G |57 18ug/cm2][5710uL/cm2]0.1 M 8| 25[1.1,09 | & 72| T 366] 512] 142] 198
H
I [20ug-C/ecm2| 9ug/em2|o1 MB| 2512, 12 | || 857] E (1873771) (2907%5) (2‘% (259‘;5)
J
K
L
M _|16ug-C/cm2 0.1um|01 MB| 25[12, 1.2 | B 69] 952 1372] 223 321
N
173 0.185[1M i@ | 25(1.0,1.0 |FF#| 61| £ | 5782] 948] 149] 245
173 0.185[1M & | 26/1.0,1.0 [F#5] 59| i | 3929] 666] 76.1 129
12.9 o[iMs& | 25[1.0,1.0 |[FH| 73] T | 4414] 604 1132 155
o 12.9 o[iMs& | 25[1.0,1.0 || 699] & | 4904 702| 1236] 177
8.57 0[1M 8 25]1.0,1.0 || 86.7] & | 447.7] 5151] 1415] 16238
8.57 0[1M ;B 25]1.0,1.0 || 85| iF | 543.1] 637] 144.4] 1696
4.3 0[1M ;B 25/1.0,10 |F#| 86.3] & | 5259] 608.3] 155.7] 180.1
4.3 0[1M 3B 25/1.0,10 |F#| 84l & | 5272 627.7] 137.4] 1636
P
Q
R
s |[173uePt/em2[0.202 ul/om2]0.1 MiB| 60[12,09 [ W% | 8o.1] T g29] 1018|191 234
17.3ug-Pt/cm2]0.202 uL/cm2[0.5 M k| 60[1.2,09 | 18 | 722| 211] 288 46 63
T |[17.9ug/cm2| 364ul/cm2][0.1 M| 25[1.2,1.2 | A 89| i | 1029] 1157 335] 377
U | rueprome| 205%™ loimis| 25|12, 115 m | 83| E | 1223 1468| 265 318
23 uL/cm2
5wt%%0.185
FCCJ|.3ug-Pt/cm2 (ﬁ:‘*]gl.:JgL//c ?22) 0.1 M:B| 25|12, 09 | & n3

HKlk=(Id-1)/(1d-1)

K-L7Ovk&Y
X1k=(1d-1)/(1d-1)
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